@& TOYOTA

Toyota Genuine Audio

INSTALLATION INSTRUCTIONS

FOR

Corolla Verso (RHD)

«R1+R

Manual Ref. n°® AIM 000 077-0 TOYOTA MOTOR CORPORATION



Corolla Verso (R1) TOYOTA GENUINE AUDIO

TABLE OF CONTENTS @

1. APPICATION CRAMT ..ottt ettt ettt ae ettt a e et eteteae e s et et esees et ebese st etesennesanenis 4
p V] (=1 0 T 17011 R 5
3. 6 CD-Changer INSTAIALION .........cveieeieieieeeeeeee ettt ae et et teste et e ste et e s tesee st e te st e e ensesseneeneerennes 6
3.1 VENICIE DISASSEIMDIY ...ttt s et et s et e s e s es e sene s enense e nenen 6
3.2 Installation under the PASSENGEI'S SEAL .......cc.covceiiieeece ettt st st sttt eseeaeaneenea 11

4. Subwoofer Installation

Corolla Verso (RHD) - 3 02-04



p. 1/1

1e8s puey 1ybu ol Japun pajedoT ((g) e 18as puey Yo| Juod) Japun payeso (1)

BJIM UOISIBAUOD JD)| :00-0LE00-LGYZd (sxxx) ¢ SIIM UOISIBAUOD OIANY :0LE00-G6980 (sxx) o -XL “+XL 10} SSBUIBH NS :00879-€2980 (..) « Ae|dSIQ 10} SSBUIERH NS :108¥9-€2980 (4)
1y Bununop Jsjoomans / 1eBueyo-ao / 301 :09-0££83-G2Zd « ¥y Bununopy uonebireN :09-06£83-52¥Zd

juswuen9lug Jed uj - Jajoomgns - 1abueyn-qo Aemy-apiH :swiay Huimojjoj ay} Jo auo jjeisul AjJuo ued noA :NOILNILLY

._._
=
=
Q

©

s

(vexs) 00-02€00-L5¥Zd + 09-02€83-G2vZd M/ Qe fiojoe} woy |euondo JuewUieHBlUT JBD U + U PeSH 2} | <.

Q

09-0/€83-52Zd W4 (c® Auojoey woy jeuondo lsjoomang +Junpes o1 | S

(/2]

(+ex) 02€00-G6980 + 09-0/£83-G2vZd W/4 (@A) fiojoey woy |euondo 1abueyD-g +aunpesH g1 G

[}

3
(vaex) 00-02£00-2G7Zd + (+) 008962980 + () L08Y9-€2980 + 09-0£€83-GZ¥Zd W/ + 09-0/£83-GZ+Zd W/ (e e Kiojoey woy jeuondo (1g1) uonebineN + juswulepsiug Jed uj +euni-qo9 i
(vx4+) 00-0£€00-LG¥Zd + 09-0L€83-GC¥Zd W/4 (4] ) AKiojoey wioy [euondo JusWulepaug B Ul +Jaunf-d09 €L
(++) 008%9-€2980 + (1) 108962980 + 09-0£€83-GZ¥Zd W/4 + 09-0/£83-GZ¥Zd M/ (e ((4C) fiojoey woy |euondo (1g1) uonebineN + Jojoomang +48un-q09  zb
09-0£83-527Zd W4 (1) fuopoey woy jeuondo lejoomgng +Jeun1-q09 1L
(x+) 008Y9-€2980 + () 108¥9-€2980 + 09-06£83-GZ¥Zd W/4 (e hKiojoey woy jeuondo (LgL) uonebineN +4oun1-q09 oL

c

(ress) 00-0L€00-LGVZdl + (xs) 008V9-€2980 + () 108Y9-€2980 + 09-0E€83-GZvZd M/ + 09-0/€8F-Szvzd 4 (@ (D@ Alojoey wioy piepuels (181) voneBineN +juswiurelslul e U +Jeuni-qd 6 | 2
[ =
D

(sexs) 00-0££00-LG¥Zd + 09-02£83-G2Zd W4 (@) fKiojoe} woy prepuelg JuowuleyaT JeY Ul + JoUNL-0) 8 O
w
(+) 00879-€2980 + () L08Y9-€2980 + 09-06€83-G2vZd M/4 + 09-02€83-GZ¥Zd Wi Ve @ fiojoey woy prepuelg (1gL) uoneBineN + Jojoomang +1eunl-q0 L (G
>
(+) 108796980 + 09-06€83-G2#Zd W/d + (xx+) 0/£00-G6980 + 09-02£83-GZvZd /4 (e (]} fuojoey woy prepuers (191) vopeBineN + 196UBYD-QO +BUN1-AD 9 | &
o
(+ex) 02€00-G6980 + 09-0/£83-G2¥Zd W/4 (@A) fiojoe} Wwoy prepuelg JeBueyp-go +Jeunt-qd g
09-0/£83-G¢vZd /4 () fiojoe} Wwoy prepuelg JBjoomgng +48unj-q0 v
(x+) 00879-€2980 + () 108962980 + 09-0£€83-5Z7Zd W/4 (e fiojoe} woy prepuelg (Lgl) uogebinen + Jouni-qy €
B Kiojoey woyy jeuondo (Auo) ;eun1-q09 =z
- Ai0)08} WO} pIEpUB)S (Ajuo) Jaun1-qo L
S14Vd TYNOILIAAVY a3¥IN03y 1INN @v3H NOILVYNIGINOD
(10825-6¥580) 00ESNL WajsAs uopebiney (11600-£0980)19%0 WL 196uey9-q9 Aemy-apiH
(7£800-16980) oj00mans -
00-1.£83-29%Zd +00-02£83-29vZd = (391) waysAs juswurepiajuz e uj ECE=EEa
WVIOAOL
(SILINNNO-aav + |
#00Z ‘Wige Arenuer - dnoio SO-ININL
(aHy + aH1) »+lHxx OSIOA BJ]OI0D TIVHO NOILVOI1ddV oldnv




TOYOTA GENUINE AUDIO

Corolla Verso (R1)

2. SYSTEM LAYOUT

6 CD-CHANGER

See Application Chart

02-04

-5

Corolla Verso (RHD)



Corolla Verso (R1) TOYOTA GENUINE AUDIO

3. 6 CD-CHANGER INSTALLATION @

3.1 VEHICLE DISASSEMBLY

1. Remove the louver [ (L+R).
[100]: Hook (6x)
42 Clip (3)
2% 1 Hook (3x)

CAUTION

Remove the hook [113] at the inner side
of the glove compartment.

CAUTION

Put the protective tapes on the shaded
areas. Be sure to remove the parts
carefully not to damage the section.

| IN CASE OF AUTO AIR CONDITIONER |

2. Remove the heater control panel [21.
[101]: Screw (2x)
7+ Clip (2x)

| IN CASE OF MANUAL AIR CONDITIONER

3. Remove these parts:
a) Control knob
b) Heater control panel
[101]: Screw (3x)
i+ Clip (2x)

02-04 Corolla Verso (RHD) - 6



Corolla Verso (R1)

4.

TOYOTA GENUINE AUDIO

Remove the combo [4],

[{02]: Screw (4x)

31 Clip (4x)

FOR M/T MODELS |

5.
a)
b)

Remove the shift knob [5].
Remove the center lower cover [6].
[103]: Screw (2x)

i1 Clip (2x)

[104]: Clip (2x)

&5 Hook (2x)

FOR A/T MODELS |

6.
a)

b)

Corolla Verso (RHD) - 7

Remove the shift cover [7].

2% 1 Hook (10x)

Remove the center lower cover [6].
[103]: Screw (4x)

21 Clip (2x)

[o4]: Clip (2x)

251 Hook (2x)

02-04



Corolla Verso (R1) TOYOTA GENUINE AUDIO

7. Remove the footrest [113].
12 Clip (2x)
8.
a) Remove the front door scuff plate
(R).
[i05]: Clip (3x)
250 Hook (9x)
b) Remove the kick panel [9] (R).
[106]: Nut (1x)
£ 1 Hook (3x)
9.
a) Remove the rear door scuff plate
(R).
[1071: Clip (2x)
250 Hook (6x)
b) Remove the centre piller cover i1 (R).
{1 Clip (2x)

02-04 Corolla Verso (RHD) - 8



Corolla Verso (R1) TOYOTA GENUINE AUDIO

10. Remove the driver seat 2.

[108]: Bolt (5x)

[109]: Cover (2x)
[{12]: Seat side trim
&5 Hook (8x)

Corolla Verso (RHD) - 9 02-04



Corolla Verso (R1) TOYOTA GENUINE AUDIO

11.
a) Remove the clip of the duct [3.
b) Remove the silencer mat 4.

02-04 Corolla Verso (RHD) - 10



Corolla Verso (R1)

3.2 INSTALLATION UNDER THE DRIVER SEAT

Fig. 13

TOYOTA GENUINE AUDIO

12. Hold the seat side trim as shown
and cut off a small part at the front 5mm
wide for 55mm long.

13. Cut the tape @ into 10 pieces.

Corolla Verso (RHD) - 11 02-04



Corolla Verso (R1) TOYOTA GENUINE AUDIO

14. Route the changer wire @ and attach
using tape ®.
OF Tape (1x)

Not connected

Not connected

|ONLY IN CASE OF FULL MAP NAVIGATION|

15. Connect the conversion harness ®
(08695-00370).

02-04 Corolla Verso (RHD) - 12



Corolla Verso (R1) TOYOTA GENUINE AUDIO

a) Route the changer wire @ and attach
using tape @.
®: Tape (4x)

b) Attach the excess wire of the changer
wire @ as shown using tape @.
®: Tape (2x)

17.

a) Cut the silencer mat (14 as shown.
b) Reinstall the silencer mat [{4.

c) Refit the clip of the duct [3.

Corolla Verso (RHD) - 13 02-04



Corolla Verso (R1)

Seat fixation hole

Fig. 17

Fig. 19

TOYOTA GENUINE AUDIO

18.

a) Cut the carpet as shown in the illustra-
tion.

b) Strip off the insulation mat underneath
the shaded area.

19. Mark the position of the base bracket
as shown.

20.

a) Cut the carpet at the base bracket
position as shown.

b) Fit the anchor nuts (@ in the existing
holes /\ and 2\ (@10mm).
@®: Anchor nut (M5) (2x)

02-04 Corolla Verso (RHD) - 14



Corolla Verso (R1) TOYOTA GENUINE AUDIO

21. Fit the bracket & to the changer unit

—U(@ ® using screws ®.

@;/ ﬂ’:’;. H @: Screw (M5X8) (2X)

©
Loosen the screws before moving
them. Screw up after the position is
changed.
Fig. 20
22.
a) Attach tape @D to the base bracket @
as shown.

®: Tape (70mmx25mm) (1x)
b) Fit the base bracket (D using screws

®.
®: Screw (M5x16) (2x)

c) Connect the changer wire @ to the
changer unit @.

Fig. 21

Corolla Verso (RHD) - 15 02-04



Corolla Verso (R1) TOYOTA GENUINE AUDIO

4. SUBWOOFER INSTALLATION

1. Remove the screws @ from the sub-
woofer .
Fig. 22
7 E 2.
2= / a) Cut the carpet as shown in the illustra-
7{// tion.

A A b) Strip off the insulation mat underneath

\: ¢ Seat fixation hole the shaded area.

3. Mark the position of the base bracket
as shown.

Fig. 24
02-04 Corolla Verso (RHD) - 16



Corolla Verso (R1)

Fig. 25

TOYOTA GENUINE AUDIO

a) Cut the carpet at the base bracket
position as shown.

b) Fit the anchor nuts @ in the existing
holes /\ and 2\ (@10mm).
®: Anchor nut (M5) (2x)

5.

a) Cut the tape @ into 11 pieces.

b) Wrap tape D-2 to the subwoofer har-
ness @ as shown.

Corolla Verso (RHD) - 17 02-04



Corolla Verso (R1) TOYOTA GENUINE AUDIO

a) Fold up the floor carpet 1.

b) Route and attach the subwoofer wire
harness @ using tape @.
®: Tape (10x)

_ 7. Connect the subwoofer wire harness
10P audio connector @ to the 10P audio connector of the
vehicle wire harness 2.

Audio assembly

02-04 Corolla Verso (RHD) - 18



Corolla Verso (R1) TOYOTA GENUINE AUDIO

8. Before fitting the subwoofer @ adjust
the sensitivity to the correct position.

hd [
L) (]
[ ] [ ]
..
° . ° .
HIGH CUT GAIN @

(@)
i)

Fig. 29

9. Fit the bracket @® to the subwoofer
using the screws @ (4x).

Corolla Verso (RHD) - 19 02-04



Corolla Verso (R1) TOYOTA GENUINE AUDIO

a) Attach tape @ to the base bracket @
as shown.
®: Tape (70mmx25mm) (1x)

b) Fit the base bracket and the subwoofer
@ using screws ®.
®: Screw (M5x16) (2x)

c) Connect the subwoofer wire harness
@ to the subwoofer ®.

Fig. 31

ENSURE THAT ALL REMOVED CONNECTORS ARE PUT BACK CORRECTLY.
REFIT THE TRIM AND REMOVED PARTS.

02-04

Corolla Verso (RHD) - 20




TOYOTA

GENUINE PARTS



